R11 — Queuing Networks

Liping Wang
November 30, 2012

In this recitation, we talk about queuing networks. We show examples to
help you understand the concept of open Jackson’s queuing network, and also
examples (Exercise 12.1, 12.3, and 12.2) on how to analyze the performance
measures of a open Jackson’s queuing network. The note from this recitation is
attached from the next page. If you miss this recitation, please go through the
note, discuss the solution of the exercise problems with your classmates or ask
me directly if you have any problem.
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